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A slave prefers his free life style — 799 RIS XD RT7AY

OVERVIEW

n"1 maintains that it is a 217 for (even) an SXW° 72V to be freed because X72V
7% X1 XPPoaa. Our nvoin discusses the status of an 9% jup 72V where
(presumably) there is no 7°% Xr*1 RPOHI2 K72,

nooIn asks:
= N9°P9NA 19 NN RYT HNIY?I JUP Tay 9NN ON)

And if you will say; regarding a minor 72y of a Y8=w> who does not prefer
hakir-h

= 919990 NN INI NNUINT NAYVY DYV RDT DIVN (x,x0 97 MAINIT NP 7993 199997
As the X0 states in the first P92 of n121n> noon, since he is v so he did not

‘taste’ the flavor of transgressing prohibitions, what can we say to explain the view
of n"1 that it is a 27 for the HX7w> VP 72V to be freed?!

N1B0IN answers:
— INIYS JUP TaYa NN 539 NTINT MY Y

And one can say; that indeed %' admits by an YX2w" jup 72p that it is a N7 for
him to be freed and not a 2.

nooIN asks:
- %9 NN NP9 NTaYT INT) 15 NP XM ’um 9INPT NN 9IRN ON)

And if you will say; and regarding that which the X923 states there, ‘but we

have established that an 72y is certainly 7°% Xr°1 X99p5i2’ -
- 2159 XN XIPONA 105 1YY PRI 229N 51999 1939 XM 19

From where did we derive this; since the j129 argue on 2'9 and they do not
maintain that the 72y is 7199 X1 X3p72?!

Mo0IN answers:
=999 5D 72y %2) NON NIN NIPPONA 19D NNT 1929 ¥1INT 91990 W

And one can say; the 3321 admit that generally 7°% Rm91 X9p572 X729, however

' The X" Jop 72V is not losing 77N (for he is the 72y of a YX7w") and he is gaining his freedom so it is all for his
benefit [since he is not 7% R*1 X1pona]. See following foothnote # 2.

2 X177 21 there in R,X° M2 states that 7"°2 can be 73 a up. The X3 explained that the w171 of X117 17 is that we
should not think that since by an 72V it is 7% Xr°1 X7°P2772 X1 so the same applies to a ", therefore X117 27 teaches
that 17°% X1 X°poi3 applies only to a 7173 and not to a Jup. Why did the X3 assume that 7% Xi°1 R1°poi72 R729?!

? The 1137 claim that it is a n137 for the 72y to be freed indicating that the 72v is not X*P572 7 R).
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here by an 72 they do not maintain that *7% 1 x1poma -
= NIPON HYUN MINY JY MOT I NXIN D11 DY DIINN MY Tavn NiNY ’ah

Since he is subjugated and others have rights over him and the value of

freedom is greater for him that the value of X9°pp:7 -
1N 1YY D¥INN MYA PRY ) Yax

However by a (gentile who is to be converted to a) 93 who is not dominated by

others, then it is different; he does not prefer to convert since 77 X1°1 X7°p5772 (unless he is
a 1op ).

SUMMARY

n"7 agrees that by an PXw° Jp 72¥ who was XM0°R 0°9v XY that it is a m271 for him
to be freed. The o217 also agree that essentially 717 Xr°1 X7°p972 X72v provided that
he does not have a master.

THINKING IT OVER
Is there any connection between Mdo1N initial assertion that »"7 admits by an 72V
X Tvp, and the subsequent question regarding 7*% X1 Xpoia X7297

* See 1In 11"7 X,X* N12IN5 Moo who answers this question: 2R TIAYW 12 MY YPOAY K1POII WWIN IPRY T2V 223 2"n
RIOPDI2 717 RT°1 729N WRY 022010 72 22, It seems that when the X713 there says 7°7 Ri° X719P972 R72Y XTI it means
(according to the 1121) that he would have been 7°2 &1 if he would not be enslaved. See (1°2R27XP 2777) X727 XN
in X,X° N2IN0.

> See (NP9371 2179) DANART ®KMY*X and (7"27An W) AT N
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